

- OFFICE OF THE -EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division,
Mahatransco Administration Building . first Floor,
wing no.102, Aurangabad, Ph. No. (0240) 2331429,
E-mail: ee2710@mahatransco.in CIN: U40109MH2005SGC153646



No.: EEC/EHV/CCCM/Dn./ABD//Tech/

Date:-

2 3 SEP 2019

To,	e- Quotation Enquiry

Sub: Renovation of Gents and Ladies toilet block and repairing work of ladies changing room in control room at 132 KV Harsool S/Stn., Aurangabad.

Dear Sir,

Sealed percentage rate quotations are invited from Govt. registered & experienced Contractors for the above work as per schedule enclosed. The quotation should reach to the office of Executive (Civil) EHV CCCM Division Aurangabad on or before dated 30.09.2019 Time 16.30 Hrs.

TERMS AND CONDITIONS:

- The work should be carried out as per P.W.D. specification and instructions of the Engineer in-Charge and to the satisfaction of the undersigned.
- 2) The quantities mentioned in the attached schedule are approximate and likely to vary However, payment will be made as per the work actually executed and measured. The rates shown in enclosed schedule B are inclusive of GST.
- 3) The work should be completed within (15) days from the date handing over the site, failing which the contractor shall be liable to pay as compensation an amount equal to one percent or such similar amount as the competent authority may decide of the W.O. cost for every day the work remain unfinished after due date of completion subject to the maximum 10% of the cost of the order.
- 4) The work which is of bad workmanship quality will not be measured and paid.
- Contractor shall have to arrange for require cement, steel etc. at his own cost without involving any financial implications to MSETCL.
- 6) Other material such as require tools and plant will have to arrange by the contractor at his own cost.
- The water arrangement will have to be made by the contractor at his own cost, and it is not binding on the part of department to provide water for the work. In case in water is supplied by Department, then the water will be charged at the rate 1% of work done for water consuming item or 0.25% of total value of work order as decided by the Engineer in-charge.
- 8) The contractor will have to make good the damages if any made by him during the execution of work at his own cost
- 9) The material should be got approved prior to fixing from the Engineer in-charge.

- Income Tax as per the prevailing income Tax rule and subsequent amendment thereof will be recovered at 10) source of your bill on total value of work done for which the certificate will be issued if desired.
- Contractor should submit the purchase vouchers for cement, steel with the bills invariably. 11)
- Contractor will be held responsible for accident occurred during the course of the work and will have to pay 12) the compensation as per the act 1923 and subsequent amendment thereof.
- Contractor should submit his bill in triplicate through Addl. Executive Engineer (Civil) EHV CCCM Sub-13) Division-I Aurangabad the undersigned. Payment will be made within 60 days period from the date of receipts of bill to this office.
- The terms and conditions in the M.S.E.T. Co. Ltd. Booklet 'Tender and contract work' will stand applicable 14) for this work.
- 15) You will have to deposit 14,500.00 (5% of quotation value) security deposit in cash or DD of any nationalized Bank within 10 days from the date of receipt or receipt of work order, failing which EMD paid will stand forfeited.
- The contractor's offer will be considered as inclusive of all taxes and charges and it will be the contractor's 16) responsibility to pay the taxes to Government and same will not be reimbursed to the contractor.
- Your own rates should be quoted in words and figures scratches and over written rates shall not be 17) considered if not initialed.
- The contractor has to pay earnest money to Rs. 3,000.00/- in cash/In form of DD/FDR of any Nationalized 18) Bank in favor of Executive Engineer (C) EHV CCCM DIV. MSETC Ltd. Aurangabad. If the EMD of required amount is not found in the envelop the quotation will be rejected
- 19) The undersigned reserves the right to reject any or all quotations without assigning any reason what so ever.
- GST will be recovered from your bill as per GST norms. 20)
- Special condition: The payment shall be effected as per fund availability. Due to shortage of fund there are 21) chances of delay in payments for which the agency will have to bear with the Dept. No. any of claim on this account will be entertained.
- The estimated cost of the work is Rs. 2,83,145.00 only. (Inclusive of all Taxes) 22)
- The Contractor has to submit the Civil Works Registration Certificate, GST Registration and PAN card at 23) the time offer submission as mandatory documents. Wo.

Encl: Schedule B'

S.P.Kamble) Executive Engineer (C) EHV CCCM Division, Aurangabad

Copy S.W.R.S. to:

1. The Superintending Engineer (C). EHV CCCM Circle, Aurangabad

Copy to:

1. The Dy. Manager (F&A) EHV CCCM Division, Aurangabad



- OFFICE OF THE -EXECUTIVE ENGINEER (C)

EHV Civil Constn. Cum Maintenance Division,
Mahatransco Administration Building, first Floor,
wing no.102, Aurangabad, Ph. No. (0240) 2331429,
E-mail: ee2710@mahatransco.in CIN: U40109MH2005SGC153646



Name of Work: Renovation of Gents and Ladies toilet block and repairing work of ladies changing room in control room at 132 KV Harsool S/Stn., Aurangabad.

Estimated Amount: - Rs. 2,83,145.00 (Inclusive of All Taxes)

Executive Engineer (C)
EHV CCCM Division, Aurangabad.

Quotation for Works

I/We hereby que	ote for	the exe	cution of the	specified in the ab	ove written memorandum w	ithin time	specific	ed in such
memorandum	at	(at	Figure)	%	above/below/Estimated	Rate	(in	Words)
			percent	above/Below/Estin	nated rate (to be struck whic	hever is r	ot appli	cable) the
estimated rates	entered	in sche	edule "B" (n	nemorandum show	ing item of work to be carrie	ed out) in	accorda	ince in all
instruction in wi	riting fi	rom the	Engineer –	in – Charge.				
I/We have read	the ge	neral co	onditions of	contracts & the co	nditions enumerated in the	quotation	and the	same are
binding on us.								

Signature of the contractor

Full Address:

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD. EHV CCCM Division Aurangabad.

Name of work: Renovation of Gents & Ladies Toilet Block and Repairing work of Ladies changing room in Control room at 132kV Harsool S/Stn, Aurangabad.

Schedule B

Sr. No.	Particulars of Item	Qty.	Rate with 18 % GST	Unit	Amount
1	4	5	8	9	10
10	Removing door & windows with frames and stacking the materials as directed with all leads, lifts etc. complete. As directed by engineer in-charge.	2.000	137.53	No	275.06
20	Removing ventilators and small windows with frame and stacking the materials with all leads, lifts etc. complete.	2.000	115.23	No	230.46
30	Removing the existing cement plaster of any thickness without causing dust nuisance and stacking the debris upto a distance of 50 metres or spreading in the compound and cleaning the site etc. complete.		45.84	Sqm	458.40
40	Removing shahabad or Tabdur stones from floor without bed concrete including stacking the materials as directed with all leads, lifts etc. complete	61.500	44.60	Sqm	2742.90
50	Providing internal cement plaster 12mm thick in single coat in cement mortar 1:4 without neeru finish to concrete or brick surfaces, in all positions including scaffolding and curing etc. complete.	15.000	300.33	Sqm	4504.88
60	Providing and fixing in position powder coated aluminium louvered windows / ventilator of various sizes with powder coating as per detailed drawing and specifications including aluminium frames 80 x 38 mm x 1.22 mm box type. 5 mm thick sheet glass louvers, of approved quality etc. complete.	0.750	3308.13	Sqm	2481.10
70	Providing and fixing in position fibre reinforced plastic door shutter 30 mm thick of approved size and colour with gel coat and pigment on both side with 1.50 to 3.00 mm thick F.R.P. coating over face of door shutter and 1.50 to 2.00 mm thick F.R.P. coating around top and side surface at edges as additional reinforcement, the foam material used for shutter, rails and styles shall be resisted to mild acid and alkali with density of 35 Kg/cum of rigid polyurethane in situ foam including wood at appropriate places to take up fixtures and fastenings conforming to 1.S. 4020-1998 with necessary fixtures and fastenings etc. complete.	3,300	2205.86	Sqm	7279.33
80	Scrapping the old plastered internal surface with sand paper and coating the entire surface with mixture of whiting or glue and linseed oil including scaffolding etc. complete as directed.	99,000	35.56	Sqm	3519.95
90	Providing and applying Two coats of wall care Putty on plastered surface and Ceiling and Walls to prepare surface even and smooth of approved make, etc complete.		100.36	Sqm	9935.64
00	Providing and applying, plastic emulsion paint of approved quality, colour and shade to old / new surfaces in two coats including scaffolding, preparing the surface (excluding the primer coat) etc. complete. Spec.No.Bd.P.6 Page No.414	99,000	82.40	Sqm	8157.11

Sr. No.	Particulars of Itam	Qty.	Rate with 18 % GST	Unit	Amoun	
110	Providing and applying priming coat on concrete/ masonary. Asbestos Cement plastered surfaces including scaffolding in necessary, preparing the surface by thoroughly cleaning oil grease, dirt and other foreign matter and sand papering as required etc. complete	00,000	37.17	Sqm	3679.83	
120	Providing and laying ceramic tiles of having size 30 cm x 30 cm confirming to 1.S.15622/2006 (group D II-A) and 7 to 8 mm thick for flooring in required position laid on a bed of 1:4 cement mortar including cement float, filling joint with white/colour cement slurry cleaning curing etc. complete.		1439.65	Sqm	16555.9	
130	Providing and laying ceramic tiles of having size 30 cm. x 30 cm. and confirming to corresponding L.S. for dado and skirting in required position with readymade adhesive mortar of approved quality on plaster of 1:2 cement mortar including joint filling with white/ colour cement slurry cleaning curing etc. complete.	50.000	1511.51	Sqm	75575.4	
140	Providing and fixing 15 mm dia. screw down bib/ stop tap of brass including necessary socket union nut complete.	8.000	678.97	No	5431.76	
150	Providing sills of telephone black / AmbaWhite / Cat bary brown / Ruby red / Ocean Brown granite stone of 20mm to 25mm thick, on a bed of cement mortar 1:4 including cement float, filling joints with neat cement slurry, curing, polishing, rounding edges, cleaning complete.	7.000	4355.09	Sqm	30485.63	
160	Removing WC pan including, disconnecting the sanitary and water supply connection, removing and breaking flooring and bed concrete arround pan removing the same carefully and stacking the serviceble materials as and where directed including of throwing the unserviceble material outside as directed by Engineer in-charge. Spec.No.As directed by Engineer in charge.		204.44	No	408.88	
170	Providing and fixing 1st class white glazed earthenware Orissa Type W.C. Pan 580 mm dia including P or S trap cast iron soil and vent pipe upto the outside face of the wall (1:5:10) cement concrete bedding 15 mm thick, 10 liter P.V.C. flushing cistern with all necessary pipe connection etc. complete.	2.000	7.447.63	No	14895.26	
180	Providing and installing high density polyethylene water storage tanks moulded to seamless perfection from FDA approved grades of polyethylene in approved shape and size with specified capacity in specified position complete. A) Upto 1000 litres. Spec. No.: As directed by Engineer in charge.	1000.000	16.11	Lit	16110.00	
90	Removing urinal pans or wash hand basins with frame including disconnecting the sanitary and water supply connections, removing the same carefully and stacking the serviceable materials as and where directed including throwing the unserviceable materials outside etc complete	6.000	95.40	No	572.40	
00	Providing and fixing white glazed earthenware Wash Hand Basin of 63cmx45cm size including Bib cock stop tap brass heavy 15mm, brackets, rubber plugs and brass chain, stoptap and necessary pipe connection including P.V.C.waste pipe and trap upto the outside face of the wall.	2.000	6042.60	No	12085.20	

Sr. No.	Particulars of Item	Qty.	Rate with 18 % GST	Unit	Amour	
210	Providing and fixing White Glazed Earthenware full stall type Urinal with P.V.C. flushing eistern of 5 liters capacity with fitting, inlet pipes and stoptap, brackets for fixing the eistern. 32mmdia. P.V.C flush pipe with fittings and flushing arrangement including lead soil pipe, lead trap, soil pipe connection up to the outside face of the wall	3 000	9589.86	No	28769.5	
220	Providing and fixing White Glazed Earthenware Squatting plate (LadiesUrinal) with P.V.C. flushing eistern of 5 liters capacity with fitting, inlet pipe sand stop tap, brackets for fixing the eistern ,32 mm dia. P.V.C flush pipe with fittings and flushing arrangement including lead soil pipe, lead trap, soil pipe connection up to the outside face of the wall	1.000	4210.12	No	4210.12	
230	Providing and fixing on walls/ ceiling/ floor 15 mm dia. CPVC pipe with necessary fittings, remaking good the demolished portion etc. complete.	20.000	263.91	RMT	5278.20	
	Providing second class Burnt Brick masonry with conventional/ 1.5. type bricks in cement mortar 1:4 in half brick thick wall including mild steel longitudinal reinforcement of 2 bars of 6 mm diameter / 2 hoop iron strips 25 mm X 1.6 mm placed at every third course, properly bent and bonded at ends scaffolding, racking out joints and watering etc. complete	13.860	1009.79	Sqm	13995.69	
	Providing and fixing 450mmx550mm size superior type Belgium mirror with 16mm dia. nickel plated towel rod etc. complete	2.000	871.02	No	1742.04	
y f	Providing and fixing 6mm thick commercial plywood with jungle wood framework of 50x35mm size at 60cm on both ways for closing the window portion/openings for protection from falling debris, duste tc.including cutting, fixing with nails and removing after the same after completion	0.600	1105,19	Sqm	663.11	
u	Engaging of labours for various civil maintenance works	2.000	610.83	Per man Day	1221.66	
pl ve le fi: cl: co ine tes	Providing and fixing European type white glazed earthenware water closet pan with UPVC seat and lid with chromium lated brass hinges and rubber buffers including UPVC and ent pipe up to the outside face of wall 10 litre enameled low evel flushing cistern with fittings pipe stop tap brackets for xing cistern 32 mm dia. UPVC flush pipe with fittings and amps ,20 mm dia.UPVC overflow pipe ,mosquito proof puplings G.I. chain and pulley, with water Jet and fitting cluding cutting and making good to the walls and floors sting etc. complete.(prior approval of sample and brand by x. Engineer is necessary before use)	1.000	11879.53	No	11879.53	
	교육 : 전경보 : 20 1일 전급 : 20 1일					

EXCEUTIVE Engineer (C)
EHV CCCM Division, Aurangabad